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Lexicon Exercise
D. Payne

INTRODUCTION.  The "traditional" theoretical idea of the (mental) Lexicon is that it is the repository of whatever a native speaker has to memorize, which cannot be predicted by rules or generalizations.  In other words, it is a "listacon" -- just a long list of memorized items.  One subsequent idea said that certain generalizations can be made across items in the Lexicon to account for certain regular relationships among items, but it still contains whatever is "memorized as a whole".  Note that the Lexicon contains grammatical elements like /yu/ 'you' and /hæz/ 'has', as well as so-called "lexical" elements like /tri/ 'tree' and /rən/ 'run'.
What a native speaker must memorize about any item in the Lexicon includes:

1. Phonological form

2. Semantic meaning features inherent to the item
3. Syntactic category (e.g. Noun, Adjective).  This is based on morphological potential ("internal distribution") and syntactic distribution ("external distribution")
4. "Subcategorization frame", i.e. what sub-syntactic context the item can occur in.  For example, in English, all  Verbs can occur after an NP-Subject.  And all verbs in English can occur with oblique PPs.  But only some Verbs can occur before an NP-Object.  Thus, only the last kind of fact purportedly separates English verbs into subcategories.  The major syntactic category and subcategorization frames of the following verbs could be indicated as:

 
devour
V,   [ ___ NP] (meaning it has to occur before an NP which is also inside the VP)
 
slither    V,   [ ___ ]
 
rely
V,   [ ___ on NP ]

5. "Argument frame" (or "semantic case role frame"): What semantic roles the verb must co-occur with.  (Here we get into a "mess" of liberal vs. restrained theories/systems of semantic roles.)

6. "Selectional restrictions", i.e. very specific semantic constraints on the nature of "complement" phrases.  For example,  cut and pour both take an AGENT and a PATIENT.  But pour further requires that its Object be something (that can be construed as) +LIQUID; while cut requires that its Object be something more-or-less +SOLID.  Note that selectional restrictions are not limited to arguments that a verb is subcategorized for in the technical sense given above:  think requires a +ANIMATE argument, which typically occurs as Subject.
The lexical entry of pour could be represented as:


1. /por/
2. 'let a substance leave a container, in a controlled fashion, by tipping the container'  
3. V
4. subcat frame:

[ ___ (NP)]
5. argument frame:
< Ag  Pt>

6. select. restrict.:

Patient/Internal NP:  +LIQUID

INSTRUCTIONS:  Work with a partner on this exercise (include both names on what you turn in).  Based on the following data, develop lexical entries for the underlined verbs.   Don’t worry too much about  (1) phonological form or (2) semantic meaning features inherent to the item. Assume that (3) major category is V for all items.  Note that all this data concerns syntactic distribution; ignore morphological potential for this exercise.  If your grammatically judgments differ from those below, change them but submit the modified data list with your answer.
1.   John lit the match on Tuesday for Mary in his pajamas with great effort.

2.   John lights matches.

3.   John lit Mary the fire with a blowtorch.

4. *John lights.

5. *Mary put into the fire.

6. *Mary put the book.
7. *John put Mary the book into the fire.
8.   Mary put the book into the fire on Tuesday.
9. *John put the book the fire.
10.   Mary put water on the fire.

11.   The wind put the fire out.

12. *Suzi wonders the book.
13. ?Suzi wonders.

14. *Suzi wonders whether the book.

15.   Suzi wonders whether the book is interesting.

16. *Suzi wonders that the book is interesting.

17. *Suzi wonders to the book is interesting.

18.   Suzi wonders if the book is interesting.
19. *Bobbi surmises the book.

20. *Bobbi surmised.

21. ?Bobbi surmised whether the book would be interesting.
22.   Bobbi surmised that the book is/would be interesting on Tuesday.
23.   Ken wants bread.
24.   Ken wants to go.

25. *Ken wants whether to go.

26. *The book wants bread.

27.   Susan ran.

28.   Susan ran a mile on Tuesday.

29.   Susan ran on Tuesday.

30.   Susan ran the office.

31.   My nose ran.

32. ?The book ran.

33. ?My nose ran a mile.

34.   Susan ran Mary out of town.

35. *Susan ran Mary.
36.   Susan ran for office.

37. *Susan ran Mary for office.

38.   Susan ran out of town.

39.   Susan ran out of money.
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